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Text-Messaging Plans 1%
Proportional Relationships Task

1. ComCo Cell Phone Company offers a choice of cell phone plans. Plan A is
one of their most popular plans. With this plan, the company charges $0.50 per
text.

A. Complete the table to show the cost for each of the indicated number of texts.

B. Whatis the. connﬁ\nﬁeﬁmpanionaliw in the
table?

Plan A
| texts (x) cost (y)

C. Write an equation for the total monthly cost, y,
| for x number of texts.

[N

D. Using the equation you wrote in part (C), find the
cost of sending 17 texts. Show your work.

Answer Statement

E. Using the equation you wrote in part (C), find how many texts were sent if the
cell phone bill was $58. Show your work

Answer Statement

2. You will be making a graph of the monthly cost for Plan A.
1. Label the x- and y-axes on your graph.

2. Select a colored pencil. Plot each ordered pair (x, y) from Table 1 on the
coordinate plane.

3. Connectthe points that you have plotted.
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3. ComCo Cell Phone Company offers another cell phone plan called Pfan B.
With this plan, the customer is charged $0.10 per text plus a $10 monthly charge.
Complete the table to show the cost for each of the indicated number of texts.

A. Complete the table to show a customer's monthly costs, using the given
number of texts. Don't forget to add the $10 monthly charge!

Plan B i
texts(x) | cost(y)
0 $10
50 $15

}gg . Does Plan B represent a proportional
relationship between fexts and costs? Explain
| 200 why or why not,
250

300
350
400
450
500

Bk an tion for 4ine. tolal
oy cw%}.%r X Ywvioer of feyts|

4. You will be making a graph of the monthly cost for Plan B.
1. Use the same coordinate plane that shows your graph for Plan A.

2. Select a different colored pencil. Plot each ordered pair (x, y) from Table 2 on
the coordinate plane.

3. Connect the points that you have plotted.
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5. Follow-Up Questions
Show all your work!

. A customer on Plan A got amonthly phone bl of $22.50. How many texts did
she send? Explain how you know this.

Answer Statement

b. Susan is considering which plan would give her the best deal. She estimates
that she sends about 125 texts per month. Which plan would be best for Susan?
Why?

Answer Statement

. Do both of the lines on your graph represent proportional relationship? Explain
how you know.

d. For what amount of texts would the cost for each plan be the same? (Hint:
Look at your graph.)

Answer Statement

e. For Plan A, what does the point (75, 37.50) represent?

f. For Plan B, what does the point (20, 12) represent?
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